[ER2TEEREIFGR S =7 « LT 4 ABEHERE] T8
BHME B SER%274E04 H 08 H

[v=7 - ZFex@ml&E] A% 594 TREBRE 264 BAfE=Ys « B8 C C
JEAT K 4 i ouT IN | GROSS | HDCP | NET W &
1 KT BdE FH AR 40 40 80

2 |lEH K gL 40 41 81

3 v fRIG T 40 41 81

4 1rE i XA 41 41 82

5 |FZA HK FH AR 38 44 82

6 |TRE K& |X=rv=a7 41 42 83

7 (WEE fESC gy 39 44 83

8 |mk = FH I 40 44 84

9 b R Tl [E R 44 42 86

10 [0 —F RolRy 43 43 86

i R= NR=v a7 43 43 86

12 |HE4 Bk gl 43 43 86

13 |l ‘K T AR 40 47 87

[v=7 « % v h@iaa]

JIEAE. K 4 & ouT IN | GROSS | HDCP | NET i &
1Pl 2% gL 43 49 92| 14.8| 77.2

2 | K% fEE B 45 45 90| 12.2| 77.8

3 pER A gL 44 51 95| 16.5 178.5

4 A fEE 0 47 43 90| 11.4| 78.6

5 |m &= gL 46 46 92| 12.3| 79.7

6 [ Tz FlRi/~— 27 45 43 88 7.4| 80.6

TR B gL 43 49 92| 11.3| 80.7

8 |ATH Bk T &I 45 43 88 7.0/ 81.0

9 [& #iRH S35 47 45 92| 10.6| 81.4

10 | & F—x 47 43 90| 8.5/ 81.5

11 (A 2 5 45 47 92| 10.0/ 82.0

12 |fEk 1E## gl 45 50 95| 12.4| 82.6

13 |[mH —IE RlR 45 47 92 9.0/ 83.0

[Ty Rv=7 - 7ux@@ad] MAK 284 TREEE 144

AT K 4 i ouT IN GR HDCP | NET %
1 [lie s R/ ~— 7 39 41 80

2 [RiE #E— TRl [ B 38 43 81

3 | S S35 42 42 84

4 ek IR 45 40 85

5 |4 Fnk = 41 44 85

6 |WE FoF Tl (= B 45 41 86

TOREA 5 43 43 86

[2y Fv=7 - Fv Ma#EHE]

JEAT K 4 B ouT IN GR HDCP | NET W &
1S BER R 48 42 90| 10.9| 79.1

2 |EH IE4fd ISV 45 45 90 9.6/ 80.4

3 (B8 gl 47 41 88 7.5/ 80.5

4 AR JRH] =iy 45 49 94| 13.0| 81.0




5 [N EARE  [FH AL 47 43 90| 7.4 82.6
6 |hnEE NEFE 50 49 99| 16.0| 83.0
TORM KA = 51 51 102| 18.7| 83.3
(770 Fv=7 - 7ux@aE] SMA% 354 TEREEE 164
JIEAT K 4 )& ouT IN GR HDCP | NET 1
SR IR R 5 T 39 42 81
2 [fwHE R XA 44 38 82
3 |WRE Atk R 37 45 82
4 iR R FH A& 41 42 83
5 [ T% BA RFSE 39 44 83
6 |HiE EH EAL 37 46 83
7[R RIS S 42 42 84
8 | K& # 5 40 44 84
[T Ry=7 « 2y hlilE#E]
/=t K 4 i ouT IN GR HDCP | NET 1
1 |FA il ZH 43 43 86 9.5 76.5
2 | T g 46 48 94| 17.5| 176.5
3 [P —iE T AR 40 45 85 8.0/ 177.0
4 EFE PR =y 48 43 91| 12.2| 78.8
5 |t JIEEE TR lRF [ F 42 43 85 6.0 79.0
6 |fA R =y 45 47 92| 12.9] 79.1
T |EH B T AR 44 45 89 8.9/ 80.1
8 |#hH HE FH AR 48 51 99| 17.2| 81.8
(L7 2A - e 2@iRE] A% 64 TREBRE 34
JERE K 4 i OUT IN GR | HDCP | NET i
1 |piH B&fF  [A—Tr 42 38 80
2 | =R FH 2RI 43 45 88
(L7 ¢ AA - v MEIEE]
JIEAT K 4 i ouT IN GR HDCP | NET 1
1 3% BT FH AR 45 50 95| 13.0/ 82.0
(LT« AB - Zu2@iR#E] MAE 114 TiEERE 44
JIEAT K 4 i ouT IN GR HDCP | NET 1
VRN EA = = S S N iR 44 46 90
2 |2& BHHEF |EWH 45 46 91
(LT o4 2B xv MiEiEA]
JIEAT K 4 i ouT IN GR HDCP | NET 1
1 |HE e FH I 43 48 91| 13.0/ 78.0
2 AR fEF =iy 48 49 97| 14.0| 83.0

LNENF IR E 715> [RNEN OBE
TazxpE v F LT e AaT h— KK

T N O i AL




